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Q.1 ¥ 1600 #, < fean shoeft A s H 7R fosmy uuw @ 9 srufd sermsam gt
foran| 3@ deof # Frafaf@a & @ a9 91/8 wu= adl /82
1. $ Efear ot &t QRa @ ATUR 3= 1 GehIfAmR R mam
I1. Tg 2ATE FoTeTa-rT g8 TRt ATehdl bl ORE & SITSTRI & ST & A8 ek TehaT AT

Ans X 1.&ad |l
XKo2agtlag
X 3. Fad |
o 4. | aan Il gt
Question ID : 630680315303
Option 1 ID : 6306801226930
Option 2 ID : 6306801226932
Option 3 ID : 6306801226929
Option 4 ID : 6306801226931
Status : Answered
Chosen Option : 4
Q.2 f=fafEd # @ o9 YR & SwREufa & Fafa | aqe™ o 9o g?
1. Tt i fru= aRug & fRaffRa gew
I1. Tt & RafRa aew)
Ans X 1@ AT
X 2. Fad |
2 3.1 gurll gt
o 4. Fad Il
Question ID : 630680315313
Option 1 ID : 6306801226972
Option 2 ID : 6306801226969
Option 3 ID : 6306801226971
Option 4 ID : 6306801226970
Status : Answered
Chosen Option: 3
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Q.3 Which of the following vegetation type is found on eastern slopes of Western Ghats?

Ans X 1.The thorn forest
< 2. Mangrove forest
Z< 3. Montane forest

¥ 4. Tropical deciduous forest

Question ID : 630680315309
Option 11D : 6306801226956
Option 2 ID : 6306801226954
Option 31D : 6306801226953
Option 4 ID : 6306801226955
Status : Answered
Chosen Option : 4
Q.4 The only large river of Indian desert is
Ans X 1.Chambal river
Z5 2. Tapi river
«* 3. Luni river
/5 4. Narmada river
Question ID : 630680315308
Option 11D : 6306801226949
Option 2 ID : 6306801226952
Option 31D : 6306801226950
Option 4 1D : 6306801226951
Status : Answered
Chosen Option: 3
Q.5 Lakshya Sen was conferred with the Arjuna Award 2022 in which sports?
Ans X 1. Athletics
" 2. Badminton
X 3. Hockey
X 4. Boxing
Question ID : 630680315295
Option 11D : 6306801226897
Option 2 1D : 6306801226898
Option 31D : 6306801226900
Option 4 1D : 6306801226899
Status : Answered
Chosen Option : 2
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Q.6 Who won the Sahitya Akademi Award 2022 for Assamese language?
Ans  # 1. Manoj Kumar Goswami

/< 2. Jayanta Madhab Bora
#< 3. Hiren Bhattacharjya

/< 4. Tapan Bandopadhyay

Question ID : 630680315305
Option 11D : 6306801226938
Option 2 ID : 6306801226937
Option 3 1D : 6306801226940
Option 4 1D : 6306801226939
Status : Answered
Chosen Option : 3

Q.7 =il Id & e A fafaf@a d d s arFuT ad@ 82
|. I RNER & AT JFAE/SFRA & HgI- & q=747 S7et gl
II. 7g igR Aforg 7 avf o1 uehier &1

Ans o 1. Fad |l
Xo2agtad
X 3. %ad |
X 4L qur i et

Question ID : 630680315307
Option 1 1D : 6306801226946
Option 2 ID : 6306801226948
Option 3 ID : 6306801226945
Option 4 ID : 6306801226947
Status : Not Answered
Chosen Option : --

Q.8 The Brahmo Samaj set up in .
Ans o 1.1828

X 2.1838
X 3.1834
X 4.1824

Question ID : 630680315302
Option 11D : 6306801226926
Option 2 ID : 6306801226928
Option 3 1D : 6306801226927
Option 4 ID : 6306801226925
Status : Answered
Chosen Option: 1
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Q.9 The first-ever cannabis medicine project in India will be set up in
Ans X 1.Dehradun

X 2. Chandigarh
/< 3. Guwahati
o 4. Jammu

Question ID : 630680315297
Option 11D : 6306801226905
Option 2 ID : 6306801226907
Option 31D : 6306801226908
Option 4 1D : 6306801226906
Status : Not Answered
Chosen Option : --

Q.10 Who is the author of the book 'Kadambari'?
Ans X 1.Kalhana

¥ 2. Banabhatta
/< 3. Kalidasa
/5 4. Bhavabhuti

Question ID : 630680315304
Option 11D : 6306801226935
Option 2 ID : 6306801226936
Option 31D : 6306801226934
Option 4 ID : 6306801226933
Status : Marked For Review
Chosen Option : 2

Q.11 Which among the following teams won the highest number of Bronze medals in the National
Games 2022?

Ans  # 1. Maharashtra
/X 2. Services Sports Control Board
/< 3. Haryana
/5 4. Karnataka

Question ID : 630680315296
Option 11D : 6306801226903
Option 2 1D : 6306801226901
Option 3 ID : 6306801226902
Option 4 1D : 6306801226904
Status : Not Answered
Chosen Option : -
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Q.12 &F =ar st atern fora & § dfaa &2

Ans X 1.5 gd uyHTe
o 2. STk feane Tufight
25 3. gamms
X A @Ry Ud qioT
Question ID : 630680315298
Option 11D : 6306801226910
Option 2 ID : 6306801226912
Option 3 1D : 6306801226911
Option 4 ID : 6306801226909
Status : Answered
Chosen Option : 2
Q.13 The salaries of the Supreme Court judges are determined by
Ans X 1. President of India
/5 2. Chief Justice of India
X 3. Prime Minister of India
" 4. Parliament of India
Question ID : 630680315312
Option 11D : 6306801226965
Option 2 ID : 6306801226967
Option 3 1D : 6306801226966
Option 4 ID : 6306801226968
Status : Answered
Chosen Option : 4
Q.14 Which of the following is NOT an example of Unicellular organism?
Ans X 1.Chlamydomonas
/< 2. Paramecium
« 3. Plants
75 4. Amoeba
Question ID : 630680315314
Option 11D : 6306801226974
Option 2 ID : 6306801226975
Option 31D : 6306801226976
Option 4 1D : 6306801226973
Status : Answered
Chosen Option : 3
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Q.15 FR=faf@a d @ & @ vrer g81-mdT wrur gRar @ ddfdq &2
I. er¥eroft

1. gt

Ans X 1.ar@r ATl
o 2. had |
X 3. Fadll

X 4 1 aa =t

Question ID : 630680315306
Option 11D : 6306801226944
Option 2 ID : 6306801226941
Option 31D : 6306801226942
Option 4 1D : 6306801226943
Status : Not Answered
Chosen Option : --

Q.16 In its revision, in January 2015 the Central Statistics Office (CSO) replaced GDP at factor
cost with the

Ans " 1. GVA at basic prices
75 2. GDP at market price
/< 3. GVA at factor cost
/5 4. GNP at factor cost

Question ID : 630680315300
Option 11D : 6306801226918
Option 2 ID : 6306801226917
Option 31D : 6306801226920
Option 4 1D : 6306801226919
Status : Answered
Chosen Option: 3

Q.17 As per Census 2011, ______ percent of the total population of India is aged 15-29 years.
Ans X 1.37.3

X 2.235

" 3.27.3

X 4.325

Question ID : 630680315310
Option 11D : 6306801226960
Option 2 ID : 6306801226957
Option 31D : 6306801226958
Option 4 1D : 6306801226959
Status : Answered
Chosen Option : 1
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Q.18 IUNIehdl HagR ol FA=faf@d A  forads gRT 99=T 11 ehar 82

Chosen Option :

1. oI IuTifar fascor
II. shAETEeR ST fasqwor
Ans X 1.%aa |l
o 2. | Tl gt
P R
X 4. Fad|
Question ID : 630680315301
Option 11D : 6306801226922
Option 2 ID : 6306801226923
Option 3 ID : 6306801226924
Option 4 ID : 6306801226921
Status : Not Answered
Chosen Option : --
Q.19 The Preamble of the Indian Constitution was amended in which year?
Ans X 1.1972
" 2.1976
75 3.1986
< 4.1982
Question ID : 630680315311
Option 11D : 6306801226961
Option 2 ID : 6306801226962
Option 31D : 6306801226964
Option 4 1D : 6306801226963
Status : Answered
Chosen Option: 2
Q.20 Family Courts (Amendment) Bill, 2022 seeks to grant statutory cover to family courts in
which states?
I. Himachal Pradesh
Il. Assam
lll. Nagaland
Ans X 1.lland Il
& 2. 1andlll
X 3. land I
2 4.1, 1land NI
Question ID : 630680315299
Option 11D : 6306801226915
Option 2 ID : 6306801226914
Option 3 1D : 6306801226913
Option 4 ID : 6306801226916
Status : Not Answered

Section : General Intelligence & Reasoning Ability
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Q.1 afX'Mx N’ &1 aref ‘M, N R it &, ‘M + N’ &7 aref ‘M, N &t Rar &, ‘M = N’ a1 aref ‘M, N &t
HTAT @’ a1 ‘M — N’ &1 31ef ‘M, N &1 wis @, at et ey P+ Q+R-Tx K # ‘P KA farw
TR Tafdd g'?

Ans X 1.9g
K< 2. =R
X 3.9t
o 4 T A HE T

Question ID : 630680315324
Option 11D : 6306801227013
Option 2 ID : 6306801227015
Option 31D : 6306801227014
Option 4 1D : 6306801227016
Status : Answered
Chosen Option : 4

Q.2 = Ry g usr A, =t & fAfN= sraual & fg day g2rfe mg &1 39 HuAl & a1g gt A Ry
g &1 SR §f9a:

hYH:
I.C<K;EzK;M<RzH>E>F

fArsent:

I.C<H
I.F>K

Ans X 1.3f daer ey |l T g
X 2. af fsed | o 1| < T &
o 3. I ot Freanef | Ta @
X 4. AT q ey | iR 9 8 fwd || I 8

Question ID : 630680315319
Option 11D : 6306801226994
Option 2 ID : 6306801226996
Option 3 ID : 6306801226993
Option 4 1D : 6306801226995
Status : Answered
Chosen Option : 3

Q.3 ara fNerk T1, T2, T3, T4, T5, T6 auT T7 Qak Ufh A afayor i 31k g ok 343 gq & (=4 78
g FHA I T1, T7 & i 3R uiwd = wR &1 T1 ufh & fhehl uep sifdm sR w21 75
Uk & Sier fra d &1 76, T7 & =Y 3R =i R\ R 21 T2, T5 &1 Aehean usid a8 81 74, TS
& g It @ik @1 T5 & R i SR i 82

Ans X 1.T4
X 277
o 3.T3
X 4.T6

Question ID : 630680315315
Option 11D : 6306801226978
Option 2 1D : 6306801226979
Option 31D : 6306801226977
Option 4 1D : 6306801226980
Status : Answered
Chosen Option: 3
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Ans

Q4 If15p3q9=54and10p4q3=43,then4p3q7=?

W 1.19
X 212
X 3.18
X 4.20

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680315334
6306801227055
6306801227053
6306801227054
6306801227056
Answered

1

Q.5 ame@sfRaiP Q,R,S, T, U, Vaur W s i 3R q@ &veh Tah geiTehR AT & 5&-ME Adt g &
EEA TS Az mad @) I P ThHerfi sR AR A w21 Q, T & arfi siR R A WR IR,
P a1 T &Y Rrerean usidh =81 81 T, S aur W Y Rehean usidi 21 U, S & erff eik fR @ w=
21V, S & gia il oiik &1 Fafafaa & 9 i ua fafdre ad @ d@«ifda & aur v g a9 &
FafafEa d @ w9 a1 39 9gg @ T&6faq a8 82

Ans X 1.VP
X 2.PU
< 3.8V
o 4.QU
Question ID : 630680315316
Option 11D : 6306801226982
Option 2 ID : 6306801226983
Option 3 ID : 6306801226981
Option 4 ID : 6306801226984
Status : Answered
Chosen Option : 4
Q.6 In the following question, select the related letters from the given alternatives.
NA:JW:MZ:?
Ans X 1.PL
o 2.1V
X 3.SA
X 4.ML
Question ID : 630680315325
Option 1 1D : 6306801227017
Option 2 ID : 6306801227019
Option 3 ID : 6306801227020
Option 4 1D : 6306801227018
Status : Answered
Chosen Option: 2
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that will complete the series.
AB, FM, KX, PI, ?

o 1.UT
X 2.UR
X 3.UM

X 4.UQ

Ans

Q.7 A series is given with one term missing. Select the correct alternative from the given ones

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680315321
6306801227003
6306801227001
6306801227002
6306801227004
Answered

1

building in Gokuldham apartment. Ground floor is numbered 1; first floor is numbered

Q lives above P. Then find, Who live on the top most floor?

Q.8 Eight persons namely - P, Q, R, S, T, U, V and W live on separate floors of an eight-floor

2 and

so on until the topmost floor which is numbered 8.0nly two people live between P and Q. V
lives immediately above S. T lives immediately above R. T lives above W. U lives on an odd-
numbered floor. Only one person lives between T and W. P lives on the floor numbered five.

Ans X 1.P
r A
K3T
& 4.Q
Question ID : 630680315317
Option 11D : 6306801226988
Option 2 ID : 6306801226986
Option 3 1D : 6306801226987
Option 4 ID : 6306801226985
Status : Answered
Chosen Option : 4
Q.9 Consider the string given below made up of letters. How many letters are immediately
preceded by vowels?
KJRMCRALNJXJOHWXQHNCBPBXA
Ans X 1.3
o 2.2
< 3.1
X 4.0
Question ID : 630680315322
Option 11D : 6306801227005
Option 2 ID : 6306801227006
Option 3 ID : 6306801227007
Option 4 ID : 6306801227008
Status : Answered
Chosen Option : 2
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Q.10 If33P10Q17=26and4P2Q5=1,then18P9Q7="?
Ans ¥ 1.20

X 2.22
X 3.18
X 4.19

Question ID : 630680315333
Option 11D : 6306801227051
Option 2 ID : 6306801227050
Option 3 1D : 6306801227049
Option 4 ID : 6306801227052
Status : Answered
Chosen Option : 1

Q.11 In the following question below are given some statements followed by some conclusions
based on those statements. Taking the given statements to be true even if they seem to be
at variance from commonly known facts. Read all the conclusions and then decide which of
the given conclusion logically follows the given statements.

Statements:
I. AllP are G.
II. NoVisP

Conclusion:

I. All G are P.
Il. Al V are G.
II. Al P are V.

Ans X 1. All conclusion follows
75 2. Both conclusions Il and Il follows
#< 3. 0nly conclusion | follows

&" 4. Neither conclusion follows

Question ID : 630680315318
Option 11D : 6306801226992
Option 2 ID : 6306801226991
Option 3 1D : 6306801226989
Option 4 ID : 6306801226990
Status : Answered
Chosen Option : 4

Q.12 In the following question, select the missing number from the given series.
1,3,-1,7,-9,?

Ans X 1.26
W 2.23
X 3.31
X 4.29

Question ID : 630680315332
Option 1 ID : 6306801227046
Option 2 ID : 6306801227045
Option 31D : 6306801227048
Option 4 ID : 6306801227047
Status : Answered
Chosen Option: 2
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statements. These statements are followed by two conclusions. Give answer:

Statements:
I.LAz2Z;Z=X=L=K<Q=B

Conclusions:
I.LA>Q
ILA=zL

Ans X 1.If both conclusions | and Il are true
& 2. If only conclusion Il is true
/< 3.1f only conclusion | is true

Z< 4. 1f neither conclusion | nor conclusion Il is true

Q.13 In the question given below, relationships between different elements are shown in the

Question ID : 630680315320
Option 11D : 6306801227000
Option 2 ID : 6306801226998
Option 3 ID : 6306801226997
Option 4 ID : 6306801226999
Status : Answered
Chosen Option : 2
Q.14 In the following question, select the odd letter/letters from the given alternatives.
Ans X 1.GECA
< 2.QOMK
«" 3. MKIF
X 4. AYWU
Question ID : 630680315328
Option 1 ID : 6306801227031
Option 2 ID : 6306801227030
Option 3 ID : 6306801227029
Option 4 ID : 6306801227032
Status : Answered
Chosen Option : 3
Q.15 In the following question, select the odd letter/letters from the given alternatives.
Ans X 1.TVXZ
" 2. SUXZ
2 3.JLNP
< 4. WYAC
Question ID : 630680315327
Option 11D : 6306801227026
Option 2 ID : 6306801227028
Option 3 ID : 6306801227025
Option 4 ID : 6306801227027
Status : Answered
Chosen Option : 2
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Q.16 In the following question, select the figure which can be placed at the sign of question mark (?) from the given
alternatives.

<]

i n| (=X | || (|| 2

Ans

v+ | O

Question ID : 630680315329
Option 11D : 6306801227035
Option 2 ID : 6306801227036
Option 31D : 6306801227034
Option 4 1D : 6306801227033
Status : Answered
Chosen Option : 3

Q.17 Ais the brother of B. B is the sister of C. C is the mother of D. D is the husband of E. E is the
mother of F. F is the wife of G. How is C related to F?

Ans " 1. Grandmother
75 2. Mother
< 3. Father
X 4. Sister

Question ID : 630680315323
Option 11D : 6306801227009
Option 2 ID : 6306801227011
Option 31D : 6306801227010
Option 4 ID : 6306801227012
Status : Answered
Chosen Option: 1
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Q.18 In the following question, select the related letter pair from the given alternatives.
VIF:SFC::?

Ans X 1.ITM:IIT
«" 2.RQV:ONS
< 3.LOV:EEU
< 4.NEE:SSU

Question ID : 630680315326
Option 11D : 6306801227021
Option 2 ID : 6306801227024
Option 31D : 6306801227023
Option 4 ID : 6306801227022
Status : Answered
Chosen Option : 2

Q.19 In the following question, select the odd figure from the given alternatives.

Ans
1
X 1. 2 4
3
2
2| 1 E
a4

o
s\w
=

X 4.

I—'-\-h
P

Question ID : 630680315330
Option 11D : 6306801227039
Option 2 ID : 6306801227037
Option 31D : 6306801227038
Option 4 ID : 6306801227040
Status : Answered
Chosen Option : 2
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Q.20 In the following question, select the missing number from the given series.
4,3,11,2,66,41,?

Ans o 1.257
< 2.268
X 3.267
X 4.222

Question ID : 630680315331
Option 1 1D : 6306801227044
Option 2 ID : 6306801227043
Option 3 1D : 6306801227041
Option 4 ID : 6306801227042
Status : Answered
Chosen Option: 1

Section : Arithmetical & Numerical Ability

Q.1

Acar is travels 60 km in 15 hour and 80 km in 2°¢ hour. The average speed of car would be?
Ans X 1. 75km/hr
X 2. 50km/hr
< 3. 60km/hr
« 4 70km/hr

Question ID : 630680315344
Option 1 1D : 6306801227096
Option 2 ID : 6306801227094
Option 31D : 6306801227093
Option 4 ID : 6306801227095
Status : Answered
Chosen Option : 4

Q.2  Ashopkeeper allows a discount of 16% to her customers and stills gains 20%. Find the marked price of a flour bag
which costs the shopkeeper Z1190.

Ans X 1. Z1800
2. 1700
X3 %1723
X 4. 1870

Question ID : 630680315339
Option 11D : 6306801227074
Option 2 ID : 6306801227075
Option 31D : 6306801227076
Option 4 ID : 6306801227073
Status : Not Answered
Chosen Option : --
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Q3 Simplify: 39 - [18 — {12- (15— 12+ 6 % 3)}]
Ans X 1. 27
X2 2]
3. 24
X4 42
Question ID : 630680315335
Option 11D : 6306801227058
Option 2 ID : 6306801227059
Option 31D : 6306801227057
Option 4 ID : 6306801227060
Status : Answered
Chosen Option: 3
Q.4 There are 1296 logs of woods that has to be kept in such a way that it makes equal number of logs in each row. How
many logs can be placed at in each row?
Ans X 1. 39
X2 38
X3 35
« 4 36
Question ID : 630680315338
Option 11D : 6306801227072
Option 2 ID : 6306801227069
Option 3 1D : 6306801227071
Option 4 ID : 6306801227070
Status : Answered
Chosen Option : 4
Q.5  The sum of radius of base and height of a rolling pin is 37m. If the total surface area of the pin is 1628 m? then the ratio
of volume of rolling to the curved surface area of pin would be:
Ans X1, 5:2
X2 2.7
X3 3:7
4 T2
Question ID : 630680315343
Option 11D : 6306801227092

Option 2 ID : 6306801227090
Option 31D : 6306801227091
Option 4 1D : 6306801227089
Status : Answered
Chosen Option: 1
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Q.6
80% T HeUTd T EIEm ?
Ans X' 1. 8:5
X2 5:3
v 3 4:5
X4 5:4
Question ID : 630680315353
Option 1 ID : 6306801227131
Option 2 ID : 6306801227129
Option 31D : 6306801227132
Option 4 ID : 6306801227130
Status : Answered
Chosen Option : 3

would be

Q.7 1na 10% class test, 65% of total examinees passed and number of failed students is 420 then total number of examinees

Ans X' 1. 1260
X 2 1235
X3 1230
« 4 1200
Question ID : 630680315352
Option 11D : 6306801227126
Option 2 ID : 6306801227127
Option 3 ID : 6306801227125
Option 4 ID : 6306801227128
Status : Answered
Chosen Option : 4
Q.8 Reema has one spherical laddu of radius Sem. With the same amount of material. how many laddus can be made of
radius 2.5cm?
Ans X' 1. 15
X2 5
VER
X410
Question ID : 630680315346
Option 11D : 6306801227102
Option 2 ID : 6306801227103
Option 31D : 6306801227104
Option 4 ID : 6306801227101
Status : Answered
Chosen Option : 3
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Q9 R p/2 fFBEF R W T auf & o FUROT =0 O HOT & T H o 7 Tfr & & sIoFm et 2
Ans

BXP:XT
p i Wi
R
BXP xT
p G R
100+ R
FPYXR xT
2%, 3. Eenkaas R
100
PXREXT
w4 0 000
200
Question ID : 630680315351
Option 11D : 6306801227121
Option 2 ID : 6306801227122
Option 31D : 6306801227124
Option 4 ID : 6306801227123
Status : Answered
Chosen Option : 4
Q.10 ZLetX be the lower-class boundary of a class in a frequency distribution and z be the midpoint of the class then upper-
class boundary of the class would be -
Ans 5 1 waz ¥
(z+ X)
X 2 g - -
2
(z+ X)
X o
2
4 2z— X
Question ID : 630680315347
Option 1 ID : 6306801227108
Option 2 ID : 6306801227105
Option 31D : 6306801227106
Option 4 ID : 6306801227107
Status : Not Answered
Chosen Option : --
Q11 Class mark of the class 120 — 180 is
Ans 1. 150
X2 200
X3 120
X4 110
Question ID : 630680315348
Option 11D : 6306801227109
Option 2 ID : 6306801227112
Option 31D : 6306801227111
Option 4 ID : 6306801227110
Status : Answered
Chosen Option: 1
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Ans

be -
X 1. 32525
X 2 %3125
X 3. 33085
o 4 23025

Q.12 Ankit borrowed 22,500 from his friend at 10% per annum for 2 years which compounded annually then amount would

Question ID : 630680315350
Option 11D : 6306801227120
Option 2 1D : 6306801227119

Option 31D : 6306801227118
Option 4 ID : 6306801227117
Status : Answered
Chosen Option : 4
Q.13 A water cooler fills 100 bottles in 3 hours. How many bottles will it fill in 5 hours?
Ans X 1. 250
« 2. 500
X 3. 200
X 4700
Question ID : 630680315349
Option 11D : 6306801227116
Option 2 ID : 6306801227114
Option 3 ID : 6306801227115
Option 4 ID : 6306801227113
Status : Answered
Chosen Option : 3
Q.14  Ariver 6m deep and 50 m wide flowing into ocean at the rate of 2km/hr. How much water will fall into the seaina
minute?
Ans X1 3
- 100 m
72 10000 cm®
¥ 3 10000 m>
741000 m?
Question ID : 630680315342
Option 11D : 6306801227087
Option 2 ID : 6306801227088
Option 3 1D : 6306801227085
Option 4 ID : 6306801227086
Status : Answered
Chosen Option : 4
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Chosen Option :

.15
1% valueof a® =
Ans x 1. .l.-"la
w2 ]
X3 all
X4 a
Question ID : 630680315336
Option 11D : 6306801227063
Option 21D : 6306801227064
Option 31D : 6306801227062
Option 41D : 6306801227061
Status : Answered
Chosen Option : 2
Q.16 Dhruv has got 16, 18, 12, 10 and 11 in his class test. What would be the average of his score?
Ans X 1.12.4
w2 134
X3 125
X4 135
Question ID : 630680315341
Option 1 ID : 6306801227083
Option 2 ID : 6306801227081
Option 31D : 6306801227084
Option 4 ID : 6306801227082
Status : Answered
Chosen Option: 2
Q.17 The single discount which is equivalent to two successive discounts of 25% and 4%
Ans 1. 28%
X 2. 239%
X 3. 200
X 4. 249%
Question ID : 630680315354
Option 11D : 6306801227136
Option 21D : 6306801227134
Option 31D : 6306801227135
Option 41D : 6306801227133
Status : Answered

1
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Q.18 Which number can be used on the place of “y” to make 23478y divisible by 2?2

Ans  oC 1 1
X2 5
3 0
x43
Question ID : 630680315337
Option 11D : 6306801227066
Option 2 ID : 6306801227065
Option 31D : 6306801227067
Option 41D : 6306801227068
Status : Answered
Chosen Option : 3
Q.19 |2 women can dig a pond in 8days. How many women can dig it in 6 days?
Ans X 1. 20
X215
X312
4 16
Question ID : 630680315340
Option 11D : 6306801227078
Option 21D : 6306801227079
Option 31D : 6306801227077
Option 4 ID : 6306801227080
Status : Answered
Chosen Option : 4
Q.20 . 3 :
The total surface area of a cube is 384 cm” then its volume would be -
Ans
X 1. 384 cm?
¥ 2 512 cm?
503 G4 sz
X 4 524 cm?
Question ID : 630680315345
Option 1 ID : 6306801227099
Option 2 ID : 6306801227097
Option 31D : 6306801227100
Option 4 ID : 6306801227098
Status : Answered
Chosen Option : 3

Section : Hindi (Language & Comprehension)



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

Google Play

Q.1 Ry 7y 2reg &1 Al 2ree w1 hifSiQl
gl

Ans X 1. 3ifSemam
o 2. sifa=sT
X 3.9
X 4. R

Question ID : 630680315555
Option 11D : 6306801227934
Option 2 ID : 6306801227933
Option 3 ID : 6306801227936
Option 4 ID : 6306801227935
Status : Answered
Chosen Option : 2

Q.2 f=fafEa us #, Ry 7o ar el | |, 39 fasea a1 oa= & st Ry 1g ggrer & ordf &t
s U  =wh AT 2|

iz g g
Ans o 1. 9gd dTH BT
X 2. T T g ST
X 3. dgrg ggT
25 4. T TR IR AT

Question ID : 630680315550
Option 11D : 6306801227914
Option 2 ID : 6306801227915
Option 31D : 6306801227916
Option 4 ID : 6306801227913
Status : Answered
Chosen Option : 1

Q.3 Ry 7 arew A Raiferd 2res & Tg ffSgl
& g AT a1 &l

Ans X 1. &g
X 2. g
o 3. FATg
X 4. Fxar g

Question ID : 630680315545
Option 11D : 6306801227894
Option 2 ID : 6306801227896
Option 31D : 6306801227893
Option 4 ID : 6306801227895
Status : Answered
Chosen Option: 3
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Q.4 g arery & ¥aifea e it @@ HifSg
I Ag ST @1 T &

Ans X 1.Sdrar
o 2. S
X 3. gt
75 4. AT

Question ID : 630680315544
Option 11D : 6306801227891
Option 2 ID : 6306801227890
Option 3 ID : 6306801227889
Option 4 ID : 6306801227892
Status : Answered
Chosen Option : 2

Q.5 =6 @l 6 gfef R
der-iiehl IATA & 1Y AT =Rl Terel &1 AT e oft s i H

Ans X 1.Hf@®
X 2. sraAfa
X 3. SHaRY

o 4. A

Question ID : 630680315547
Option 1 1D : 6306801227902
Option 2 ID : 6306801227903
Option 31D : 6306801227901
Option 4 ID : 6306801227904
Status : Answered
Chosen Option : 4

Q.6 T q arerTiar & forg Grefer 2T wira AfAQI
@ & g aw)|

Ans X 1.Jor IS
X 2. sram
o 3. @@
P

Question ID : 630680315543

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6306801227888
6306801227887
6306801227885
6306801227886
Answered

3
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Q.7 feu v 2rez 1 gafaar=h wra fifSg)
Tepdt

Ans X 1.STerel
X 28w
X 3.8d

o 4.3hg1

Question ID : 630680315553
Option 11D : 6306801227926
Option 2 ID : 6306801227927
Option 3 1D : 6306801227928
Option 4 ID : 6306801227925
Status : Answered
Chosen Option : 4

Q.8 =k @l i gfef aa?
e T 31U f=RY R ek & @ gaRT et gar gl

Ans X 1.fa3m=
o 2. e
X 3. T

5 4. JrEeprr

Question ID : 630680315548
Option 1 ID : 6306801227907
Option 2 ID : 6306801227906
Option 31D : 6306801227908
Option 4 ID : 6306801227905
Status : Answered
Chosen Option : 2

Q.9 R it it gff a1

3 HgH sl 3R sfias & faeh & 918 gf~aT I8 Yk T AT #eR 39T & $U d S
Eonl

Ans o 1. IufEl
X 2. wanfat
/X 3. swgraat
X 4. Tt

Question ID : 630680315549

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6306801227910
6306801227911
6306801227912
6306801227909
Answered

1
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Q.10 T 7Y 2reg a1 yafgar=h w4 fifSigl
Hertdr

Ans X 1.9
X 2.9d
X 3. W
o 4. BT®

Question ID : 630680315554
Option 11D : 6306801227932
Option 2 ID : 6306801227931
Option 3 1D : 6306801227929
Option 4 1D : 6306801227930
Status : Answered
Chosen Option : 4

Q.11 fF=fafa@da us 8, Ry 1g IR et A |, 39 fAerea 1 999 & St g 79 gereR & sref &t
TS U § =< Al gl
TR il ThR giAr

Ans X 1. 9gd QR 0T EAT
X 2. 3 ST & ot Aae g
o 3388
75 4. e ST

Question ID : 630680315551
Option 11D : 6306801227920
Option 2 ID : 6306801227917
Option 31D : 6306801227919
Option 4 ID : 6306801227918
Status : Answered
Chosen Option : 3

Q.12 g g IR fArereul A |, Yo G Sigede a9 & fAg arerai & e arfhes s &1 99+ 1
. I8 YA BR hT hIH A oh d1¢ ehictst ST &l
. T U fOar & 9 @t 8l
1. SR} e &1 STeret 81
. Thictel SITd YA I8 A H helel ol @it &1

Ans o 1.9,%,9T
X 2.@ 9T
X 3.%,9,91T

X ATmY ST

Question ID : 630680315541
Option 11D : 6306801227880
Option 2 ID : 6306801227878
Option 31D : 6306801227879
Option 4 ID : 6306801227877
Status : Answered
Chosen Option: 1
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Q.13 R 7T areryien & farg grefes eree 7rd HifSai
fSrenT of= =& foamaT o1 9|

Ans o 1. Sr@uiE
X 2. %paxd
X 3. et
X 4w

Question ID : 630680315542
Option 1 ID : 6306801227883
Option 2 ID : 6306801227884
Option 3 ID : 6306801227881
Option 4 1D : 6306801227882
Status : Answered
Chosen Option : 1

Q.14 f=fafaa uw &, Ry 70 ar Reeal d @, 39 e o1 og9 2 51t Ry 7g wtntifear & oref &t
s 9 § =wh AT 2|
T AT GUT o7

Ans X 1.9 afRh
X 2.9 & fauda ot
o 3. 7T & ST
X 4. aRar afh

Question ID : 630680315552
Option 11D : 6306801227923
Option 2 ID : 6306801227922
Option 31D : 6306801227921
Option 4 ID : 6306801227924
Status : Answered
Chosen Option: 3

Q.15 Rer w0y g ¥
stet @t sfta-sig & fag gl

Ans X 1. 3FEETR
X 2. glas
X 3. @R

o 4. AR

Question ID : 630680315546
Option 11D : 6306801227897
Option 2 ID : 6306801227899
Option 3 1D : 6306801227900
Option 4 ID : 6306801227898
Status : Answered
Chosen Option : 4
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Q.16 w7y IR el d |, gah YT sigede a9 & g arerl & ae arfdhas o &1 wa+ 3|
. FTehfal <l 99 @ AhseR &l 41 fAed &1
. FAHSERT MU ToR TR & foIg Siner I Fehst e gl
1. 39 T 3 AT I @EeR: AT 81
. Ig ehg] ohl A A =T &1

Ans X 1.9, &,

o 2.9, 9, %, T
X 3.9 19

X 49910

Question ID : 630680315540
Option 11D : 6306801227875
Option 2 ID : 6306801227874
Option 31D : 6306801227873
Option 4 ID : 6306801227876
Status : Answered
Chosen Option: 2

Comprehension:

Teh TS o T &1 erier & SR R IR U g g & Merier ot earyden ué aut U U & IR
et 7 T T8} Riehed g1

AT 37U SfieH i GE-Giaum g a9 o forg fafea axgaeit o Iuah ofk STl shear g1 38 & &
2 o SuiT € @ B 1 3T R U IUNRKITE o ER 81 6T 8, 31 1 IIel ISTehs IaTeh o1
LIS T TET-TETRL ITch TTH U el & | 9 &l [T gl ST & | STToTchel SHhT TaR-UHR 31
31 8t 7T & foh acfT ot ‘f=Ta= a1 g’ gt ST T &

I A AR St &t STid TT8RTs & UIfad e &1 a8 HRT TTE T ST 38T & foh 8H gl IR
I3t & I} siiel Y AT e &, O &1 TuTER U, um-uferet & iy e s § dwd €1 g
farmmoe # foneft A9 AT O 3 T[UT Sl TET T G, 36 @RI o oIy 3G &1 354 8

T Y yrres SR guTaHt TS S WR aifeie U STeld &1 a= aTed & fob 3 ST awga e
TRT & St AR ARt grr s anvd gy s S 26l §1 arda s el shiHe 7 SR At ug
&I ST Ut & foh 377 aegeil o T=a-g1s s & foig & SiA ol eud o 9 €

g R 1 STeR & foh & ¥ TTuTa aTel! difche Sgfasiud a¥gsT &l gsea @ @G 3 1 hMER
Y ST IUTE-TATTA BT TS =T farsToel IR @ o 36 & SR afedn urer arett axgsit @ off g=a A
3ifSfd &R 3@ &1 ITEAhd! HIAT-HTA &1 38 & SR IUHIHISA chl STH-3ST Sid he 38T &1 398 a9 &
fOIQ 37T IuI=hTST AT SRR BT ST d SMTdTh ¢

SubQuestion No : 17
Q.17 fammu=i &t gumasit W "aifde yvre R o= s1e @ 82
Ans o 1 T )

X 2.9gI =

X 3. Rl =

X 4 mai ™

Question ID : 630680315538
Option 11D : 6306801227868
Option 2 ID : 6306801227866
Option 31D : 6306801227867
Option 4 ID : 6306801227865
Status : Answered
Chosen Option : 1
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Ans

Comprehension:

ek TTEITST T 7T 81 IR o SMYR UR IR 0% {3 714 €1 TTeIi1 et e gdeh Ug aT Ucieh TSl o IR
farehedt & & @@ frepe 1

AL 37U SfteH ht GGl g a9 & forg fafera aegsit o1 o ofk IusihT shear 81 38 v &
2 foh UM & 9@ 61 39 IR UTYT IUHIHIATE oh 31¥R §I 36T 6, ST T hTdIaT ISTeh IcdTaeh ST
I D TET-TGIRR ITch ATHA U ol & | 39 & AU gl ST § | SHTSTehel SHehT TaR-UHR a1
31feres g1 a1 & TR oA ot ‘fRamTa= a1 g’ gt S e 8

I 3 R St &t STid TTeeTs & UIfad foRam &1 I8 HRT WTE ST SfT 38T & ok 87 gahHl R
TEgait & I} siiel Y AT e &, O &7 THER U=, uF-ufAersit & fig e ot d Awd €1 5w

T & foneft ATe o gt 3 T[OT SRl JTEHT AT YRR, I8 Wi & oIy Igh &t Iad &

IO <l yTeR TR GTEHT HTST S=d1 IR Taiieieh TG STeld! 8| I<d 9T8d 6 foh 3 S avgail el
TRT & STt AR ARt gR i aea gy S S % €1 ara | = il i 7 SR Afass ag
! ST T & o 39 aegsi & I=3-31S I@™ & folg &1 36 aral ¥ud o T’ B

T fasToT a1 SR 8 R g9 &hm ToTeT aTell <l agfasmTita axgsit &l usee & @G @ 81 ghMaR
Y 31T IcUTE-AATTA T ST e faoHl R @ ok 36 & SR afedr ure areft axgsit @ off g=a A
IS &R T &1 ScTeTehd! ATAT-HTC 81 38 & 3R Iui<hraf il S-S 99 ohe Bl &1 399 a9 &
g arTsT IUMIHISH oAt SIS BT 3T 3aeh 3

SubQuestion No : 18

Q.18 ‘Sia whe’ § gl = sifaumg 82

X 1. 99 &t § aprer

X 2. 919 e
75 3. Igl 1 I <Al
o 4. 091 & Jepae
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680315539
6306801227870
6306801227869
6306801227872
6306801227871
Answered

4
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Ans

Comprehension:

ek TTEITST T 7T 81 IR o SMYR UR IR 0% {3 714 &1 TTeIiR1 ot et gdeh Ue a2t Ucieh TSl o IR
fareredt & & @@ frepe T

AL 37U Sfte ot GE-glaem g a9 & forg fafera aegsil a1 I ofk IusihT ahear 81 38 v &
2 foh U & 9@ 81 39 WR U IUHIHIATE oh 31¥R B1 38T 6, ST o1 hTdIaT ISTeh IcdTaeh ST
I Dl TET-TEIRR ITeh T U ol & | 39 & fIATU gl ST § 1 SHTSTehel SHehT TaR-UHR a1
3iferes g1 a1 & TR adam ot ‘s a1 g’ gt S e 8

IO = §9R STia= ot SIcid 78318 © Ui fohdT 81 I8 HRT WTa ST ST 38T & foh 89 gl R
et & g} siiel Y AT e &, O &1 TR U=, uF-ufAersi & fig e ot d dwd €1 5w

T & foneft are a1 gerde & Tom Y FeTat e e, I Wlter & fory Ik 8t 3o &

IO <l uTTeR TR GHTEHT HTST S=d1 IR Haiieieh TG STeld! 8| <d 9T8d 6 foh 3 Sl avgail el
TRT & STt AR ARt gR i wed gy S S % €1 areaa | = il i 7 SR Afss ag
&I ST T g o 39 avgsi & I=3-31S IE™ & folg &1 36 aral ¥ud o T B

T ot a1 SR 8 6 g9 ohm ToTeT aTell <l agfasmTiua axgsit & usee & @G @ 81 ghMaR
Y 31T IcuTE-ATTd T ST R faToHl IR @ o 38 § SR afedr ure areft axgsit @ off g=a @
IS &R T &1 ScTeTehd! ATT-HTE 81 32 & 3R Iui<hraf il S-S Sid ohe Bl &1 399 a9 &
T 31TST IUIHISH oAt ST BT 31 3aeh 3

SubQuestion No : 19

Q.19 g g srufde wexizr w1 Sug=h 2fidfe ar gvm?

X 1. famm & ey

< 2. oo et oref

X 3. fammom & Sfem

o 4. a5 & uvre
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

630680315536
6306801227857
6306801227860
6306801227859
6306801227858
Answered

4
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Comprehension:

ek TTEITST T 7T 81 IR o SMYR WR IR 0% 3T 714 &1 TTeIiR1 ot et gdeh Ue a2t Ucieh TSl o IR
farehedt 7 & @@ frepe T

AL 37U Sfte ot Ga-GlAem g a9 & forg fafera aegsit o Iuah ofk IusihT shear 81 I8 & &
2 foh U & 9@ 61 39 IR U IUHIHIATE oh S1¥R 81 36T 6, ST o1 hTdIaT ISTeh IcdTaeh ST
I D TET-TEIRR ITeh ATHA U ol & | 39 & AU gl ST &1 SHTSTehel SehT TaR-UHR a1
31feres g1 a1 & TR oA ot ‘== a1 g’ et S e 8

fIITo = §R STia ot SIcid 7818 © UIfad fohdT 81 I8 HART WTa ST ST 38T & foh 89 gl R
et & IE} siiel Y AT e &, O &7 TR U=, uz-ufAersi & fig e ot d 2wd €1 5w
T & foneft ATe T gt 3 T[OT SRl JTaHT AT YRR, I8 Wier & fIg Igh 8t Iad &
IO <l uTeR TR GTEHT HTST S=a1 IR Taiieieh TG STeld! 8| < 9T8d 6 foh 3 S avgail ol
TERT R STt AR ARt gR it wea gy S S % €1 ara | = il i 7 SR Afass ag
&I ST uTdT & o 39 aegsi & I=3-318 I@™ & folg &1 36 aral ¥ud o T’ B

T fasToHT a1 SR & o6 g9 &hm ToTeT aTell i agfasmTiua axgsit &l usee & @G @ 81 ghMaR
Y ST IcUTE-ATTA T IS R famToHl IR @ ok 36 & SR afedr ure ateft axgsit @ off g=a @
IS &R T &1 STeTehd! ATAT-HTE 81 38 & 3R Iui<hraf il S-S Sid ohe @l &1 399 a9 &
g arTST IUIHISH oAt ST BT 31 3aTeh 3|

SubQuestion No : 20
Q.20 I<IHT G hl T gl ST 82
Ans X 1. 9ffd Iusfiht &1 g
X 2. IUHIRETE &1 G
o 3. A= s gn

5 4. SISTRATG &1 Gl

Question ID : 630680315537
Option 11D : 6306801227864
Option 2 ID : 6306801227862
Option 31D : 6306801227861
Option 4 ID : 6306801227863
Status : Answered
Chosen Option: 3

Section : English (Language & Comprehension)

Q.1 Choose the most appropriate meaning of the below quoted idiom from the below options

“Don't cry over spilt milk”
Ans X 1. Keep crying thinking over future happenings
" 2. Don't cry over what has happened as it can’t be fixed
/5 3. Being defensive all the time

X 4. Be cautious while talking

Question ID : 630680312139
Option 11D : 6306801214454
Option 2 ID : 6306801214453
Option 31D : 6306801214455
Option 4 ID : 6306801214456
Status : Answered
Chosen Option : 2
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Q.2 Choose the most suitable word to complete the below sentence:

Karen loves around her estate as here is beautiful greenery all around.
Ans X 1.jogs
o 2.0 jog
X 3.jog
< 4. jogged
Question ID : 630680312135
Option 11D : 6306801214437
Option 2 ID : 6306801214439
Option 31D : 6306801214438
Option 4 ID : 6306801214440
Status : Answered
Chosen Option : 2
Q.3 Choose the most appropriate meaning of the below quoted idiom from the below options
“A bird in the hand is better than two in the bush”
Ans ¥ 1. An opportunity in hand, currently, is better than a prospect in the future, because time
never repeats itself.
75 2. There is no planning required for future opportunities
Z5 3. One should not rush to grab the current opportunity, a lot will happen in future
/X 4. There will be multiple opportunities in the future
Question ID : 630680312140
Option 11D : 6306801214458
Option 2 ID : 6306801214459
Option 31D : 6306801214460
Option 4 ID : 6306801214457
Status : Answered
Chosen Option: 1
Q.4 Choose the most appropriate meaning of the below mentioned word from the below options
Preservation
Ans X 1. Endangerment
< 2. Neglect
¥ 3. Conservancy
X 4. Destruction
Question ID : 630680312144
Option 11D : 6306801214474
Option 2 ID : 6306801214473
Option 31D : 6306801214475
Option 4 1D : 6306801214476
Status : Answered
Chosen Option: 3
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Q.5 Choose the most suitable word to complete the below sentence:

the appetite for services too.
Ans X 1. effecting

The global slowdown that had clearly hit consumer demand for products, now appears to be

Chosen Option :

X 2. suffice
/X 3.inelastic
" 4. infecting
Question ID : 630680312137
Option 11D : 6306801214446
Option 2 ID : 6306801214448
Option 3 ID : 6306801214447
Option 4 ID : 6306801214445
Status : Answered
Chosen Option : 1
Q.6 Choose the most suitable word to complete the below sentences:
| tried on the new shoes, and they fitted me
Ans X 1.badly
" 2. perfectly
/< 3. absolutely
75 4. happily
Question ID : 630680312138
Option 11D : 6306801214452
Option 2 ID : 6306801214449
Option 31D : 6306801214450
Option 4 ID : 6306801214451
Status : Answered
Chosen Option : 2
Q.7 Choose the most suitable word to complete the below sentence:
His efforts are appreciated the society and they consider him an important part of
the society.
Ans o 1. by
75 2. however
25 3. during
25 4. although
Question ID : 630680312136
Option 11D : 6306801214441
Option 2 ID : 6306801214444
Option 3 1D : 6306801214442
Option 4 ID : 6306801214443
Status : Answered

1
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below options

Q.8 Choose the most appropriate opposite meaning of the below mentioned word from the

Sobering
Ans X 1. Laborious
& 2. Trivial
/< 3. Arduous
X 4. Severe
Question ID : 630680312142
Option 11D : 6306801214467
Option 2 ID : 6306801214466
Option 31D : 6306801214465
Option 4 ID : 6306801214468
Status : Answered
Chosen Option : 4
Q.9 Fill in the missing word to complete the sentences below:
It was a public holiday, so there were
Ans X 1.nothing
& 2.no
X 3.not
< 4.none
Question ID : 630680312132
Option 1 1D : 6306801214427
Option 2 ID : 6306801214426
Option 31D : 6306801214428
Option 4 ID : 6306801214425
Status : Answered
Chosen Option : 2
Q.10 Choose the most appropriate opposite meaning of the below mentioned word from the
below options
Suffice
Ans X 1. Meet
o« 2. Dissatisfy
25 3. Content
25 4. Avail
Question ID : 630680312141
Option 11D : 6306801214462
Option 2 ID : 6306801214463
Option 31D : 6306801214461
Option 4 ID : 6306801214464
Status : Answered
Chosen Option : 2
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Q.11 Choose the most appropriate one-word substitution for the bracketed word from the below
sentence.

(The United Kingdom had experienced) its hottest June on record since 1884.
Ans X 1. The United Kingdom had been experienced

/5 2. The United Kingdom have experienced
/X 3. The United Kingdom is experienced

&" 4. The United Kingdom experienced

Question ID : 630680312131
Option 11D : 6306801214423
Option 2 ID : 6306801214424
Option 31D : 6306801214422
Option 4 ID : 6306801214421
Status : Answered
Chosen Option : 4

Q.12 Choose the most appropriate meaning of the below mentioned word from the below options

Achievement
Ans  # 1. Fulfilment

/X 2. Loss
X 3. Failure
/X 4. Disaster

Question ID : 630680312143
Option 11D : 6306801214472
Option 2 1D : 6306801214471
Option 31D : 6306801214470
Option 4 ID : 6306801214469
Status : Answered
Chosen Option: 1

Q.13 Choose the most appropriate one-word substitution for “A place for keeping bees”
Ans X 1. Aviary

" 2. Apiary
X 3. Nest
/< 4.Cage

Question ID : 630680312130

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

6306801214417
6306801214418
6306801214420
6306801214419
Answered

2
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Q.14 Choose the most logical order of the sentences from among the four given choices to
construct a coherent paragraph.

The Temiar blowpipe is normally some two meters long and made from one single length of
bamboo.

A) From it they shoot a small dart, a splinter of wood some twenty or twenty-five
centimeters in length

B) It has a slender inner tube inside the outer covering so that one length warps against the
other and it always remains true.

C) Though for some reason they are more accurate if the target is moving vertically than if it
moves horizontally.

D) Most aborigines are extremely accurate with a blowpipe up to a range of nine to ten
meters.

Ans 1. BADC
/< 2.DACB
#< 3.ACDB
#< 4. ABCD

Question ID : 630680312134
Option 11D : 6306801214434
Option 2 ID : 6306801214436
Option 3 1D : 6306801214435
Option 4 ID : 6306801214433
Status : Answered
Chosen Option : 2

Q.15 Choose the most appropriate one-word substitution for “A test in which cells from diseased
organs are removed and tested”

Ans 4 1.Biopsy
X 2. Amputation

/< 3. Autopsy
/X 4. Operation

Question ID : 630680312129
Option 11D : 6306801214413
Option 2 ID : 6306801214416
Option 31D : 6306801214414
Option 4 ID : 6306801214415
Status : Answered
Chosen Option : 1
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Q.16 Fill in the missing word to complete the sentences below:

Snobbery also plays a role in the effectiveness of advertising, and it still works as people
tend to mimic the behavior of their neighbors.

Ans X 1.impoverished
o 2. affluent
/X 3. effluent
X 4. needy

Question ID : 630680312133
Option 1 ID : 6306801214430
Option 2 ID : 6306801214431
Option 3 ID : 6306801214429
Option 4 ID : 6306801214432
Status : Not Answered
Chosen Option : --

Comprehension:

Every individual is a member of a specific culture that shapes their worldview, opinions,
behaviors, and daily activities. With the advent of technological advancements and traveling,
people now have the possibility to interact with others from all around the world and enrich
their knowledge. It is therefore crucial to understand the concept of culture better to prevent
cultural misunderstandings and conflicts.

Culture refers to the characteristics and knowledge of a particular group of people,
encompassing language, social habits, music, and arts. Most of the cultural differences can
be observed in the specificities of communication. For example, highly people-oriented
cultures are usually open and easy-going, where individuals are more likely to remain in close
proximity and maintain eye contact. In contrast, cultures that value privacy and intimacy tend
to perceive such behavior as inappropriate. Such cultural differences often lead to
misunderstandings, which can prevent people from developing meaningful relationships.
Therefore, it is crucial to educate oneself and adapt behavior to engage in respectful and
appropriate communication with those from different cultures.

In conclusion, culture is a complex subject that requires thorough research. As individuals
travel around the world, meet new people, and establish personal relationships, it is essential
to educate oneself about cultural differences that can lead to misunderstandings. Learning
more about them and training oneself to adapt can not only save time but also contribute to
the creation of meaningful friendships with people from different cultures. Effective cross-
cultural communication is essential in a globalized world, and understanding culture is the
first step to achieving it.

SubQuestion No : 17
Q.17 Identify the central theme of the passage

Ans ¥ 1. Learning more about cultural differences and training oneself to adapt can not only
save time but also contribute to the creation of meaningful friendships with people from
different cultures. Effective cross-cultural communication is essential in a globalized world,
and understanding culture is the first step to achieving it

X 2. Most of the cultural differences can be observed in the specificities of
communication

/X 3. As individuals travel around the world, they should restrict themselves to meet new
people, and establish personal relationships, it poses a great threat to their lives.

/X 4. Culture does not refers to the characteristics and knowledge of a particular group of
people, encompassing language, religion, cuisine, social habits, music, and arts.

Question ID : 630680312125
Option 11D : 6306801214397
Option 2 ID : 6306801214398
Option 31D : 6306801214399
Option 4 ID : 6306801214400
Status : Answered
Chosen Option: 1
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Comprehension:

Every individual is a member of a specific culture that shapes their worldview, opinions,
behaviors, and daily activities. With the advent of technological advancements and traveling,
people now have the possibility to interact with others from all around the world and enrich
their knowledge. It is therefore crucial to understand the concept of culture better to prevent
cultural misunderstandings and conflicts.

Culture refers to the characteristics and knowledge of a particular group of people,
encompassing language, social habits, music, and arts. Most of the cultural differences can
be observed in the specificities of communication. For example, highly people-oriented
cultures are usually open and easy-going, where individuals are more likely to remain in close
proximity and maintain eye contact. In contrast, cultures that value privacy and intimacy tend
to perceive such behavior as inappropriate. Such cultural differences often lead to
misunderstandings, which can prevent people from developing meaningful relationships.
Therefore, it is crucial to educate oneself and adapt behavior to engage in respectful and
appropriate communication with those from different cultures.

In conclusion, culture is a complex subject that requires thorough research. As individuals
travel around the world, meet new people, and establish personal relationships, it is essential
to educate oneself about cultural differences that can lead to misunderstandings. Learning
more about them and training oneself to adapt can not only save time but also contribute to
the creation of meaningful friendships with people from different cultures. Effective cross-
cultural communication is essential in a globalized world, and understanding culture is the
first step to achieving it.
SubQuestion No : 18

Q.18 Identify the suitable title for the passage

Ans X 1. Culture: A hinderance in globalization
" 2. Understanding Culture for Effective Cross-Cultural Communication
75 3. Uniqueness of Cultures

< 4. Communication Vs Culture

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680312126
6306801214401
6306801214403
6306801214402
6306801214404
Answered

2
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Comprehension:

Every individual is a member of a specific culture that shapes their worldview, opinions,
behaviors, and daily activities. With the advent of technological advancements and traveling,
people now have the possibility to interact with others from all around the world and enrich
their knowledge. It is therefore crucial to understand the concept of culture better to prevent
cultural misunderstandings and conflicts.

Culture refers to the characteristics and knowledge of a particular group of people,
encompassing language, social habits, music, and arts. Most of the cultural differences can
be observed in the specificities of communication. For example, highly people-oriented
cultures are usually open and easy-going, where individuals are more likely to remain in close
proximity and maintain eye contact. In contrast, cultures that value privacy and intimacy tend
to perceive such behavior as inappropriate. Such cultural differences often lead to
misunderstandings, which can prevent people from developing meaningful relationships.
Therefore, it is crucial to educate oneself and adapt behavior to engage in respectful and
appropriate communication with those from different cultures.

In conclusion, culture is a complex subject that requires thorough research. As individuals
travel around the world, meet new people, and establish personal relationships, it is essential
to educate oneself about cultural differences that can lead to misunderstandings. Learning
more about them and training oneself to adapt can not only save time but also contribute to
the creation of meaningful friendships with people from different cultures. Effective cross-
cultural communication is essential in a globalized world, and understanding culture is the
first step to achieving it.
SubQuestion No : 19

Q.19 What is the meaning of “crucial”?

Ans  # 1. Important
#< 2. Unimportant
75 3. Minor
< 4. Unnecessary

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680312127
6306801214405
6306801214407
6306801214406
6306801214408
Answered

1
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Comprehension:

Every individual is a member of a specific culture that shapes their worldview, opinions,
behaviors, and daily activities. With the advent of technological advancements and traveling,
people now have the possibility to interact with others from all around the world and enrich
their knowledge. It is therefore crucial to understand the concept of culture better to prevent
cultural misunderstandings and conflicts.

Culture refers to the characteristics and knowledge of a particular group of people,
encompassing language, social habits, music, and arts. Most of the cultural differences can
be observed in the specificities of communication. For example, highly people-oriented
cultures are usually open and easy-going, where individuals are more likely to remain in close
proximity and maintain eye contact. In contrast, cultures that value privacy and intimacy tend
to perceive such behavior as inappropriate. Such cultural differences often lead to
misunderstandings, which can prevent people from developing meaningful relationships.
Therefore, it is crucial to educate oneself and adapt behavior to engage in respectful and
appropriate communication with those from different cultures.

In conclusion, culture is a complex subject that requires thorough research. As individuals
travel around the world, meet new people, and establish personal relationships, it is essential
to educate oneself about cultural differences that can lead to misunderstandings. Learning
more about them and training oneself to adapt can not only save time but also contribute to
the creation of meaningful friendships with people from different cultures. Effective cross-
cultural communication is essential in a globalized world, and understanding culture is the
first step to achieving it.

SubQuestion No : 20

Q.20 Identify the inferences drawn from the passage

Ans X 1. Most of the cultural differences can be observed in the specificities of
communication.

X 2. Effective communication is not an essential aspect of the culture development and
should not be given much importance.

«" 3. Effective cross-cultural communication is essential in a globalized world, and
understanding culture is the first step to achieving it

/X 4. Culture is a very complex subject and it will never contribute to the effective cross-
cultural communication with the world.

Question ID : 630680312128
Option 11D : 6306801214410
Option 2 1D : 6306801214411
Option 31D : 6306801214412
Option 4 ID : 6306801214409
Status : Answered
Chosen Option: 3

Section : Basic Computer Knowledge

Q.1 The black vertical blinking line in the typing area in a word document is ?
Ans X 1. Status point

/< 2. Status bar
X 3. Insertion bar

&" 4. Insertion point

Question ID : 630680315362
Option 11D : 6306801227166
Option 2 ID : 6306801227165
Option 31D : 6306801227167
Option 4 1D : 6306801227168
Status : Answered
Chosen Option : 1
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Q.2 An operating system is an example of which of the following?
Ans X 1. Utility software

" 2. System software
#< 3. Accounting software

/5 4. Application software

Question ID : 630680315360
Option 11D : 6306801227160
Option 2 ID : 6306801227159
Option 31D : 6306801227158
Option 4 ID : 6306801227157
Status : Answered
Chosen Option : 2

Q.3 Which section of the IT Act 2000 deals with the punishment for cyber terrorism?
Ans X 1.66E

X 2.67
o 3.66F
X 4.66D

Question ID : 630680315371
Option 11D : 6306801227202
Option 2 ID : 6306801227204
Option 31D : 6306801227203
Option 4 ID : 6306801227201
Status : Not Answered
Chosen Option : --

Q.4 Which among the following is correctly matched regarding start menu of Windows xp?

Ans X 1. All Programs - Displays a list of Uninstalled program, which a user can start or use.

/5 2. Control Panel - Displays a list of utility configure the computer system and install only
software.

/5 3. My Documents - Displays a list of installed program, which a user can start or use

" 4. My Recent Documents - Displays a list of recently used document by the current user

Question ID : 630680315358

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6306801227150
6306801227152
6306801227151
6306801227149
Answered

4
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Ans

Q.5 Which of the following menu of MS-2010 includes insert citation command?

< 1. Design

% 2. File

< 3. Mailings
" 4. References

Question ID : 630680315364
Option 1 1D : 6306801227175
Option 2 ID : 6306801227176
Option 31D : 6306801227174
Option 4 1D : 6306801227173
Status : Answered
Chosen Option: 2
Q.6 In a spread sheet the cell having bold boundary is called which of the following?
Ans X 1.Passive Cell
X 2. Sheet Cell
& 3. Active Cell
/5 4. Absolute Cell
Question ID : 630680315366
Option 1 1D : 6306801227182
Option 2 ID : 6306801227183
Option 3 ID : 6306801227181
Option 4 ID : 6306801227184
Status : Answered
Chosen Option: 3
Q.7 What is the full form of CPU?
Ans X 1. Control Principle Unit
/< 2. Common Processing Unit
/X 3. Control Processing Unit
&" 4. Central Processing Unit
Question ID : 630680315357
Option 11D : 6306801227146
Option 2 ID : 6306801227147
Option 3 ID : 6306801227145
Option 4 ID : 6306801227148
Status : Answered
Chosen Option : 4
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Q.8 Which of the following software is used for making presentations?
Ans X 1. Microsoft Word

25 2. Microsoft Excel
X 3. Microsoft access

" 4. Microsoft PowerPoint

Question ID : 630680315368
Option 11D : 6306801227189
Option 2 ID : 6306801227190
Option 31D : 6306801227192
Option 4 ID : 6306801227191
Status : Answered
Chosen Option : 4

Q.9 What are entries in a spread sheet containing the alphabet or characters, even if they begin
with a number, called?

Ans X 1.Case entries
X 2. label
" 3. text entries

/X 4. Calculations

Question ID : 630680315367
Option 11D : 6306801227188
Option 2 ID : 6306801227186
Option 31D : 6306801227187
Option 4 1D : 6306801227185
Status : Not Answered
Chosen Option : --

Q.10 Whenever a program is run or a window is opened, an icon representing the program
appears on which of the following?

Ans X 1. Status bar
75 2. Menu bar
o 3. Task Bar
5 4. Tool bar

Question ID : 630680315359

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6306801227155
6306801227154
6306801227156
6306801227153
Answered

3
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Q.11 In which group of insert tab header and footer button can be found in power point?

Ans X 1.Tables group
" 2. Text group
Z< 3. lllustrations group

75 4. Object group

Question ID : 630680315369
Option 11D : 6306801227193
Option 2 ID : 6306801227194
Option 31D : 6306801227196
Option 4 ID : 6306801227195
Status : Answered
Chosen Option: 2
Q.12 A computer is an electronic device that accepts data as an device?
Ans X 1.Processing
< 2. Input + Output
#< 3. Output
o 4. Input
Question ID : 630680315356
Option 11D : 6306801227143
Option 2 ID : 6306801227144
Option 3 1D : 6306801227142
Option 4 ID : 6306801227141
Status : Answered
Chosen Option : 4
Q.13 e-Passport seva comes under which of the following ministry of govt of India?
Ans & 1. Ministry of external Affairs
/5 2. Ministry of Education
X 3. Ministry of electronics and information technology
X 4. Ministry of Commerce and Industry
Question ID : 630680315374
Option 11D : 6306801227215
Option 2 ID : 6306801227213
Option 31D : 6306801227216
Option 4 ID : 6306801227214
Status : Answered
Chosen Option : 3
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Q.14 Which of the following is the default file extension for all Word documents?
Ans X 1..wd

X 2. txt
X 3..wrd
o 4. .docx
Question ID : 630680315361
Option 11D : 6306801227164
Option 2 ID : 6306801227163
Option 31D : 6306801227162
Option 4 ID : 6306801227161
Status : Answered
Chosen Option : 4
Q.15 Tessfie & sreri o1 suah A=faf@a 7 @ ford zaf & forg faran smar &2
Ans o 1 FlaH
X 2.3
X 3.qfte
X A s
Question ID : 630680315365
Option 1 ID : 6306801227180
Option 2 ID : 6306801227179
Option 3 ID : 6306801227178
Option 4 ID : 6306801227177
Status : Answered
Chosen Option : 1
Q.16 'shgeR’ 2reg fAfaifEa & @ fore simor @ form man g2
Ans X 1.3l
X 2.1
X 3.1"®
o 4.7
Question ID : 630680315355
Option 11D : 6306801227137
Option 2 ID : 6306801227139
Option 3 1D : 6306801227140
Option 4 ID : 6306801227138
Status : Answered
Chosen Option : 4
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Q.17 Which of the following is the punishment for identity theft in the IT Act-2000?
Ans X 1.0One year imprisonment or 1 lakh rupees penalty.

#< 2. Three year imprisonment or 5 lakh rupees penalty.
o« 3. Three year imprisonment or 1 lakh rupees penalty.

Z5 4. Three year imprisonment or 10 lakh rupees penalty.

Question ID : 630680315372
Option 1 ID : 6306801227207
Option 2 ID : 6306801227205
Option 31D : 6306801227208
Option 4 ID : 6306801227206
Status : Answered
Chosen Option : 3
Q.18 ¥Ra # Gl & forg fRRfSiee Sfaw uwmoTas fore 7 & &= frar ma g 2
Ans X 1.Sfa" doha
o 2. Sftae v
X 3. ymrior Sfes
X 4. Sfiaa gom
Question ID : 630680315373
Option 1 ID : 6306801227211
Option 2 ID : 6306801227210
Option 31D : 6306801227212
Option 4 ID : 6306801227209
Status : Answered
Chosen Option : 2
Q.19 Which of the following shortcut key(s) is/are used to close the slide show?
Ans X 1.Ctrl+0
X 2.ctrl+N
X 3.Ctrl+K
o 4. Esc key
Question ID : 630680315370
Option 11D : 6306801227198
Option 2 ID : 6306801227199
Option 31D : 6306801227200
Option 4 ID : 6306801227197
Status : Answered
Chosen Option : 4
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Q.20 Which among the following short key is used to open new document in word file?
Ans X 1.CTRL+0O

7 2. CTRL+W
X 3.F12
o 4. CTRL+N

Question ID : 630680315363
Option 11D : 6306801227170
Option 2 ID : 6306801227172
Option 31D : 6306801227169
Option 4 ID : 6306801227171
Status : Answered
Chosen Option : 4



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

	Template for PYP PDFs - Acrobat PDF - 1st page - Black.pdf
	Blank Page




